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Sweep1
C=0.3 pFC=.3 pF

C=1000 pF

R=200 Ohm

C=470 pF

R=0.00022
L=538 nH

Rough=0 mil
TanD=.001
T=1.41 mil
Hu=3.9e+034 mil
Cond=1.0E+50
Mur=1
Er=3.6
H=60 mil

DCtoRF1=dc_to_rf(Output,0,VDD,0,I_Probe1.i,I_Probe2.i,{1})

C=43 uF

C=1000 pF

C=1.0 pF

C=470 pF

C=43 uF

C=1000 pF

C=470 pF

C=1.0 pF

C=2 pF
R=22 Ohm

L=1000.0 mil
W=65 mil
Subst="MSub1"

L=50.0 mil
W=65 mil
Subst="MSub1"

L=900.0 mil
W=65 mil
Subst="MSub1"

L=25 mil
W=65 mil
Subst="MSub1"

R=50 MOhm
C=1000 pF

Step=.1
Stop=2
Start=.2
SimInstanceName[6]=
SimInstanceName[5]=
SimInstanceName[4]=
SimInstanceName[3]=
SimInstanceName[2]=
SimInstanceName[1]="HB1"
SweepVar="RFfreq"
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Drain Current in Amps


